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Ten persons are sitting in two parallel rows containing five persons in each row such a way 

that there is an equal distance between adjacent persons. In the first row, A, B, C, D and E 

are seated and all of them are facing north. In the second row, P, Q, R, S and T are seated 

and all of them are facing south. Therefore, in the given seating arrangement, each member 

seated in a row faces another member of the other row. E sits 2nd from one of the extreme 

end of the row. P faces the one who sits 2nd to the right of E. D sits 2nd to the left of B, who 

does not sit at the extreme end. Two persons sit between S and Q. R sits immediate left of S. 

C sits next to B. 

दस व्यक्ति दो समानाांतर पांक्तियों में बैठे हैं क्तिनमें प्रत्येक पांक्ति में पाांच व्यक्ति इस प्रकार बैठे हैं क्तक आसन्न व्यक्तियों 

के बीच समान दरूी ह।ै पहली पांक्ति में, A, B, C, D और E बैठे हैं और उन सभी का मखु उत्तर की ओर ह।ै दसूरी 

पांक्ति में, P, Q, R, S और T बैठे हैं और उन सभी का मखु दक्तिण की ओर ह।ै इसक्तलए, दी गई बैठने की व्यवस्था 

में, एक पांक्ति में बैठे प्रत्येक सदस्य का मखु दसूरी पांक्ति के दसूरे सदस्य की ओर ह।ै E पांक्ति के क्तकसी एक अांक्ततम छोर 

से दसूरे स्थान पर बैठा ह।ै P का मखु उस व्यक्ति की ओर ह ैिो E के दायें से दसूरे स्थान पर बैठा ह।ै D, B के बायें से 

दसूरे स्थान पर बैठा ह,ै िो अांक्ततम छोर पर नहीं बैठा ह।ै S और Q के बीच दो व्यक्ति बैठे हैं। R, S के ठीक बाएां बैठा 

ह।ै C, B के बगल में बैठा ह।ै 
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Ten persons are sitting in two parallel rows containing five persons in each row such a 

way that there is an equal distance between adjacent persons. In the first row, A, B, C, 

D and E are seated and all of them are facing north. In the second row, P, Q, R, S and 

T are seated and all of them are facing south. Therefore, in the given seating 

arrangement, each member seated in a row faces another member of the other row. E 

sits 2nd from one of the extreme end of the row. P faces the one who sits 2nd to the 

right of E. D sits 2nd to the left of B, who does not sit at the extreme end. Two 

persons sit between S and Q. R sits immediate left of S. C sits next to B. 



IBPS / BANK / LIC / SBI at 9:00 AM

• Floor with flat Based Puzzle

• Box based Puzzle

• Year Based Puzzle

• Month / Day based Puzzle

• Box based Puzzle with Variable

• Floor based Puzzle with variable

• 2 variable based Puzzle 
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IMPORTANT POINT 
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Twelve persons A, B, C, D, E, F, G, H, I, J, K, L lives in 

different flats of different floors. There are four floors in a 

building as ground floor is numbered as 1 and above it is 2 

and so on upto top floor numbered as 4. Each of the floor 

consist of 3 flats as flat-1, flat-2 and flat-3. Flat-1 of floor-2 is 

immediately above flat-1 of floor-1 and immediately below 

flat-1 of floor-3 and so on. In the same way flat-2 of floor-2 

is immediately above flat-2 of floor-1 and immediately 

below flat-2 of floor-3 and so on. Flat-2 is in east of flat-1 

and flat-3 is in east of flat-2.

Two persons live between J and K. J lives above K but both 

are living in the same flat number. A is to the east of I but 

none of them lives on same flat and same floor number on 

which J and K live. No one lives in the west of J. Only one 

person lives between C and G who lives below C. L lives to 

the east of G. F lives immediately above B and in the same 

flat number. D is to the west of H. L lives below E and H 

does not live on the top floor. E does not live in flat-2. C and 

G lives in the same flat number.

बारह व्यक्ति अर्ाात ्: A, B, C, D, E, F, G, H, I, J, K, L अलग 

अलग तलों के अलग अलग फ्लैट पर रहते हैं। एक इमारत में चार तल हैं, 

सबसे क्तिचले तल की संख्या 1, उससे ऊपर की 2 और आगे इसी तरह से 

शीर्ा तल की संख्या 4 है। प्रत्येक तल पर 3 फ्लैट हैं अर्ाात ्: फ्लैट-1, 

फ्लैट-2 और फ्लैट-3। तल-2 का फ्लैट-1, तल-1 के फ्लैट-2 के ठीक 

ऊपर है और तल-3 के फ्लैट-1 के ठीक िीचे है और आगे इसी तरह से। 

समाि तरीके से तल-2 का फ्लैट-2, तल-1 के फ्लैट-2 के ठीक ऊपर है 

और तल-3 के फ्लैट-2 के ठीक िीचे है और आगे इसी तरह से। फ्लैट-2, 

फ्लैट-1 के पूर्ा में है और फ्लैट-3, फ्लैट-2 के पूर्ा में है।

J और K के बीच में दो व्यक्ति रहते हैं। J, K के ऊपर रहता है लेक्तकि दोिों 

समाि फ्लैट संख्या में रहते हैं। A, I के पूर्ा में है लेक्तकि उिमें से कोई भी

उसके समाि फ्लैट और समाि तल संख्या पर िहीं रहता है क्तिस पर J 

और K रहते हैं। कोई भी J के पक्तिम में िहीं रहता है। C और G, िो C के 

िीचे रहता है, के बीच केर्ल एक व्यक्ति रहता है। L, G के पूर्ा में रहता है। 

F, B के ठीक ऊपर रहता है और समाि फ्लैट संख्या में रहता है। D, H के 

पक्तिम में है। L, E के िीचे रहता है और H शीर्ा तल पर िहीं रहता है। E, 

फ्लैट-2 में िहीं रहता है। C और G समाि फ्लैट संख्या में रहते हैं।



IBPS / BANK / LIC / SBI at 9:00 AM
Twelve persons A, B, C, D, E, F, G, H, I, J, K, L lives in different flats of different floors. There 

are four floors in a building as ground floor is numbered as 1 and above it is 2 and so on upto

top floor numbered as 4. Each of the floor consist of 3 flats as flat-1, flat-2 and flat-3. Flat-1 of 

floor-2 is immediately above flat-1 of floor-1 and immediately below flat-1 of floor-3 and so on. 

In the same way flat-2 of floor-2 is immediately above flat-2 of floor-1 and immediately below 

flat-2 of floor-3 and so on. Flat-2 is in east of flat-1 and flat-3 is in east of flat-2.

Two persons live between J and K. J lives 

above K but both are living in the same flat 

number. A is to the east of I but none of them 

lives on same flat and same floor number on 

which J and K live. No one lives in the west of 

J. Only one person lives between C and G who 

lives below C. L lives to the east of G. F lives 

immediately above B and in the same flat 

number. D is to the west of H. L lives below E 

and H does not live on the top floor. E does not 

live in flat-2. C and G lives in the same flat 

number.
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In a certain code a number TEN is written as 85 . How is ONE written in 

that code ?

एक क्तिक्तित कोड में एक सखं्या TEN को 85 के रूप में क्तलखा िाता है। उस कोड में 

ONE को कैसे क्तलखा िाता है?

(A) 35

(B) 25

(C) 45

(D) 95

(E) 100
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9 boxes are placed in a 3*3 matrix formation as there are 3 rows and 3 columns. All of them 

are placed from bottom to top. Box T is placed southwest of box C but north of box E. Box B 

is north of Box L, but east of box O. Box B is placed in one of the rows below S. Box U is 

southwest of box S but not south east of box K.

9 बक्से 3 * 3 मैक्तिक्स के गठि में रखे िाते हैं क्योंक्तक 3 पंक्तियााँ और 3 कॉलम होते हैं। उि सभी को िीचे से ऊपर 

तक रखा िाता है। बॉक्स T को बॉक्स C के दक्तिण-पक्तिम में रखा गया है, लेक्तकि बॉक्स E के उत्तर में क्तथर्त है। 

Box B, बॉक्स L के उत्तर में है, लेक्तकि बॉक्स O के पूर्ा में। बॉक्स B को S  िीचे की पंक्तियों में से एक में रखा

गया है। Box U, बॉक्स S के दक्तिण-पक्तिम में है, लेक्तकि बॉक्स K के दक्तिण पूर्ा में िहीं है।

Q- Who is the north of T ?  

1. S

2. K

3. L

4. C
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In a certain code a number FATHER is written as 10 . How is MAN 

written in that code ?

एक क्तिक्तित कोड में एक सखं्या FATHER को 10 के रूप में क्तलखा िाता है। उस कोड में 

MAN को कैसे क्तलखा िाता है?

(A) 13

(B) 12

(C) 14

(D) 19

(E) 10
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Nine persons are living in a building on 9 

different floors, in such a way ground floor is 

numbered as 1 and top floor is numbered as 

9. E lives on an odd number floor above the 

floor number 5. There are two persons live 

between E and G. B lives on odd number 

floor but not immediate above and 

immediate below G. There are as many 

persons live between G and F as live between 

G and K. F lives below G. H live on ground 

floor. There is one person lives between C 

and E. D does not live on an even number 

floor. A lives on even numbered floor but 

above on 2nd floor.

िौ व्यक्ति एक इमारत की िौ क्तर्क्तभन्ि मंक्तिलों पर 

इस प्रकार रहते हैं क्तक भूतल की संख्या 1 और शीर्ा 

मंक्तिल की संख्या 9 है। E, मंक्तिल संख्या 5 के 

ऊपर एक क्तर्र्म संख्या र्ाली मंक्तिल पर रहता है। 

E और G के मध्य दो व्यक्ति रहते हैं। B क्तर्र्म 

संख्या मंक्तिल पर रहता है लेक्तकि G के ठीक ऊपर 

और ठीक िीचे िहीं रहता है। G और F के मध्य 

क्तितिी संख्या में व्यक्ति रहते हैं उतिी ही संख्या में 

व्यक्ति G और K के मध्य रहते हैं। F, G के िीचे 

रहता है। H भूतल पर रहता है। C और E के मध्य 

केर्ल एक व्यक्ति रहता है। D सम संख्या र्ाली 

मंक्तिल पर िहीं रहता है। A दूसरी मंक्तिल से ऊपर 

एक सम संख्या र्ाली मंक्तिल पर रहता है।
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Nine persons are living in a building on 9 different floors, in such 

a way ground floor is numbered as 1 and top floor is numbered 

as 9. E lives on an odd number floor above 

the floor number 5. There are two 

persons live between E and G. B lives on 

odd number floor but not immediate 

above and immediate below G. There 

are as many persons live between G and 

F as live between G and K. F lives below 

G. H live on ground floor. There is one 

person lives between C and E. D does 

not live on an even number floor. A lives 

on even numbered floor but above on 

2nd floor.
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In a certain code a number EXAM is written as 4324 . How is FIX written 

in that code ?

एक क्तिक्तित कोड में एक सखं्या EXAM को 4324 के रूप में क्तलखा िाता है। उस कोड में 

FIX को कैसे क्तलखा िाता है?

(A) 233

(B) 222

(C) 423

(D) 324

(E) 234



IBPS / BANK / LIC / SBI at 9:00 AM

Ten students namely A B C D E F G H I J of ten 

different college but not necessary in the same order 

have exam of five different days starting from Monday 

to Friday of the same week .Each student have an 

exam of the two different time slot 8:00 a.m. for 11:00 

a.m. .Only two person sit between F and J. I have an 

exam on Tuesday at 8:00am. H have an exam at 8:00 

a.m.. the number of person who have exam between G 

and D is same the number of the person who have 

exam between C and H. F does not have exam on any 

of the day after H. B have an exam immediately before 

I. I does not have exam on any of the day before G. 

The one who have exam at 8:00 a.m. immediate before 

J. D have exam immediate after the day of the one who 

exam Monday . F does not have exam at 11 a.m. Only 

three person have exam between G and E.

दस छात्रों के दस अलग-अलग कॉलेि के ABCDEFGHIJ, 

लेक्तकि उसी क्रम में िरूरी िहीं क्तक पांच अलग-अलग क्तदिों की

परीिा एक ही सप्ताह के सोमर्ार से शुक्रर्ार तक शुरू हो।

प्रत्येक छात्र के पास अलग-अलग समय थलॉट 8:00 बिे या

11:00 बिे की परीिा है। F और J के बीच में केर्ल दो व्यक्ति

परीिा देते हैं। I मंगलर्ार को सुबह 8:00 बिे एक परीिा देता

है । H की सुबह 8:00 बिे परीिा होती है। G और D के बीच

परीिा देिे र्ालों की संख्या C और H के बीच परीिा देिे र्ाले

व्यक्ति की संख्या है। F, H के बाद र्ाले क्तकसी भी क्तदि परीिा

िहीं देता है । B,I के तुरंत पहले र्ाले क्तदि परीिा देता है । I, G 

के पहले र्ाले क्तकसी भी क्तदि परीिा िहीं देता है । क्तिसकी

परीिा सुबह 8:00 बिे होती है र्ह J के तुरंत पहले परीिा देता

है । सोमर्ार को परीिा देिे र्ाले क्तदि के तुरंत बाद D परीिा

देता है । F की सुबह 11 बिे परीिा िहीं होती है। केर्ल तीि

व्यक्ति G और E के बीच परीिा देते हैं।
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Ten students namely A B C D E F G H I J of ten different college but not necessary in the 

same order have exam of five different days starting from Monday to Friday of the same 

week .Each student have an exam of the two different time slot 8:00 a.m. for 11:00 a.m. 

.Only two person sit between F and J. Neither E 

and G does exam on Friday . I have an exam on 

Tuesday at 8:00am. H have an exam at 8:00 a.m.. 

the number of person who have exam between G 

and D is same the number of the person who have 

exam between C and H. D does not have exam on 

any one of the day after E. F does not have exam 

on any of the day after H. B have an exam 

immediately before I. I does not have exam on 

any of the day before G. The one who have exam 

at 8:00 a.m. immediate before J. D have exam 

immediate after the day of the one who exam 

Monday . F does not have exam at 11 a.m. Only 

three person have exam between G and E.
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In a certain code a number MONDAY is written as 24 . How is FRIDAY 

written in that code ?

एक क्तिक्तित कोड में एक सखं्या MONDAY को 24 के रूप में क्तलखा िाता है। उस कोड 

में FRIDAY को कैसे क्तलखा िाता है?

(A) 30

(B) 38

(C) 42

(D) 19

(E) 25
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Eight boxes G, H, F, E, D, C, B and A are 

arrange in top to bottom. Each box have 

different colour Red, Yellow, Green, Pink, 

Violet, White, Black and Blue, but not 

necessary in the same order. Only one box 

kept between G and F. Both Violet and 

Yellow box kept below to C. Only two box 

kept between E and Black. The colour of box 

B is not Black. The colour of box G is Green 

and the colour of box D is Pink. Only four box 

kept between G and H. The colour of box F is 

Blue. As many boxes between H and B as 

between H and D. B kept above to D. A kept 

immediately below to White. Only two box 

kept between Violet and Yellow. G lives above 

H. B is not box 5 .

आठ क्तडब्बे G, H, F, E, D, C, B और A ऊपर से िीचे

व्यर्क्तथर्त हैं। प्रत्येक बॉक्स में अलग-अलग रंग लाल, 

पीला, हरा, गुलाबी, बैंगिी, सफेद, काला और िीला है, 

लेक्तकि एक ही क्रम में आर्श्यक िहीं है। G और F के बीच 

केर्ल एक बॉक्स रखा गया है। बैंगिी और पीले रंग के दोिों

बॉक्स C के िीचे रखे गए हैं। E और काले रंग के बीच 

केर्ल दो बॉक्स रखे गए हैं। क्तडब्बा B का रंग काला िहीं है। 

क्तडब्बा G का रंग हरा है और क्तडब्बा D का रंग गुलाबी है। G 

और H के बीच केर्ल चार क्तडब्बे रखे गए हैं। क्तडब्बा F का 

रंग िीला है। H और B के बीच उतिे ही क्तडब्बे हैं क्तितिे H 

और D के बीच हैं। B को D के ऊपर क्तकसी थर्ाि पर रखा 

गया है। A को सफेद के ठीक िीचे रखा गया है। बैंगिी और 

पीले रंग के बीच केर्ल दो क्तडब्बे रखे गए हैं। G, H के ऊपर 

रहता ह।ै B क्तिब्बा 5 नहीं ह।ै
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Eight boxes G, H, F, E, D, C, B and A are arrange in 

top to bottom. Each box have different colour

Red, Yellow, Green, Pink, Violet, White, Black 

and Blue, but not necessary in the same order. 

Only one box kept between G and F. Both 

Violet and Yellow box kept below to C. Only 

two box kept between E and Black. The colour

of box B is not Black. The colour of box G is 

Green and the colour of box D is Pink. Only 

four box kept between G and H. The colour of 

box F is Blue. As many boxes between H and B 

as between H and D. B kept at one of the 

position above to D. A kept immediately below 

to White. Only two box kept between Violet and 

Yellow. G lives above H. B is not box 5 .
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In a certain code a number 125 is written as D . How is 216 written in that 

code ?

एक क्तिक्तित कोड में एक सखं्या 125 को D के रूप में क्तलखा िाता है। उस कोड में 216

को कैसे क्तलखा िाता है?

(A) C

(B) D

(C) I

(D) J

(E) K


